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1. Do any two of the following : - (2x3)

(é)_The average mhrks of 39 students of a class are
50. The marks obtained by the 40 the student are
39 more than the average marks of all the 40

students. Find mean marks of all the 40 students ?

b(b) The arithmetic mean and standard deviation of

monthly profits olf two companies for a given year

are as

- A B
_ Menu 100 90

Standard Deviation 25 18

Comment on the consistency of these companies
with respect to their profit.

(c) Mean and Standard deviation of a distribution are
15 and 2 respectively. Find standard deviation if
each observation is multiplied by 5.
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2. (a) Suppose the waist measﬁrement of 800 gifls are
normally distributed with mean 66 cms and standard
deviation 5 cms. Find the number of girls with
waist -

(i) Between 65 an& 70 cms.
(ii) Greater than or equa}l to 72 3)
OR

The probability that A hits target is . He fires
six shots. Find the probability that (i) he hits exactly
two times (ii) more than 4 times, (iii) at least
once, ' 3)

P.T.O.
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- (b) In a college 4%'of men 1 percent of women are
taller than 178cms. Further 60% of the students
a‘fe' women. Suppose a randomly selected student
" is taller than 178cms. Find the probability that the
.. student is a female. (3)

OR

A company produces lights bulbs at three factories
A, B and C. Factory A produces 40% of total
bulbs of which 2% are defective. Factory B
produces 35% of bulbs of which 4% are
defectives. Factory C produces 25% of bulbs of
which 3% are defective. If defective bulbs is found
in the total output. Find the probability it come
form factory B.

(¢) A random variable x has the following probability
distribution :
X -2 -1 0 1 2
Probability '1/6 P 1/4 P 16

(i} Calculate P

(i) Calculate E (X+2) (Expected Value of X+2)
f (3)
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3. (a) Write a note sampling and non-sampling etrors.
How can sampling error can be reduced? (3)

(b) Distinguish between sampling distribution and
probability distribution. (3)

OR
| What is the variance of sample mean if sampling :

(i) is done with replacement and (i1) without
replacement under what conditions the answer to
(i) and (ii) approach each other.

(¢} A car company claims the average fuel efficiency
of its car is 35 kilometer per litre of petrol.
A random sample of 50 cars shows an average
of 32 kms per litre with a standard deviation
of 1.2kms. Does this evidence falsify the
claim of the car company at 0.01 level of
significance ¢ (3)
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OR
A bank wants to find out the average savings of
its customers in Delhi and Bombay. A sample of
250 accounts in Delhi show an average saving of
Rs. 22500 while a sample of 200 accounts show
an average saving of Rs. 21500 in Bombay. It is
known that standard deviation of savings in Delhi
Rs. 150 and Bombay is Rs. 200. Can we conclude

at 1% level of significance that banking pattern of
customers in Delhi and Bombay is the same.
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4. (a) The regression coefficient of x and y are given as
0.84 and 0.90 respectively. Find the coefficient of
determination and interpret its value. (3)

(b) Fit a regression line on the data

(a) using x as independent variable and (b} x as
dependent variable

X: 10 9 7 8 11
Y: 6 3 2 4 5

(i) Show that the two lines pass through (X, y)

(if) Find the predicted valve of y when x =13
(3)
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(¢} Data on sales and advertisement expenditure of a
firm is given as:

. Sales Advertisement
{expenditure)

Mean 40 6

§tandard'Deviation 10 1.5

(i) Estimate the likely sales for a proposed
advertisement expenditure of Rs. 10 crores.

()

(%) X 3 Y Foraw ol 0.84 w 0.90 B Fefien o
(Coeff. of determination) FH T IR 7@ =
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X 10 9 7 8 11
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5. Do any two:

(a) Compute the rate of inflation for the following
data year

“year 2000, 2001, 2002, 2003, 2004, 2005
Price Index 108.2 114.6, 120.5 123.3 1282 130.1
(2.5+2.5)
(b) Given the following information on GDP in rupees
at the constant prices (2000-2001) and current
prices. Calculate the series of price index values
of the fives years with 2000-01 as base year

GDP at Constant GDP at Current
Prices Prices
2000-2001 200 _ 200
2000-2002 150 , 240
2000-2003 125 350
2003-2004 120 360
2004-2005 160 400
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(¢) (i) Show that

o1 = 25

& ——  Does not satisfy the time reversal
Zp 090 tegy

(ii) Show that

Pq
POl = -%—;—q]- Does not satisfy the time reversal
oMl

test
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EL] 2000, 2001, 2002, 2003, 2004, 2005

T gUEE 1082 1146, 1205 1233 1282 130.1

(@) e o & A8% R Tl W qw 9w T W

9 &K R
(GDP) feer (GDP) =T
I Gl i
2000-2001 200 200
2000-2002 150 240
2000-2003 125 350
2003-2004 120 360
2004-2005 160 400
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